





1. (a) ƒ(x) = x^2 - 4x + 4 and g(x) = x^2 + 4x + 4 are given. Find (i) f + g, (ii) f - g, (iii) fg.

(b) If f(x) = x^2 - 4x + 4 and g(x) = x^2 + 4x + 4, find f + g, f - g, fg.

5. The functions f and g are defined by f(x) = x^2 - 4x + 4 and g(x) = x^2 + 4x + 4. Find (i) f + g, (ii) f - g, (iii) fg.

6. The functions f and g are defined by f(x) = x^2 - 4x + 4 and g(x) = x^2 + 4x + 4. Find (i) f + g, (ii) f - g, (iii) fg.

(a) f(x) = x^2 - 4x + 4 and g(x) = x^2 + 4x + 4 are given. Find (i) f + g, (ii) f - g, (iii) fg.

(b) If f(x) = x^2 - 4x + 4 and g(x) = x^2 + 4x + 4, find (i) f + g, (ii) f - g, (iii) fg.

(c) The functions f and g are defined by f(x) = x^2 - 4x + 4 and g(x) = x^2 + 4x + 4. Find (i) f + g, (ii) f - g, (iii) fg.

(d) f(x) = x^2 - 4x + 4 and g(x) = x^2 + 4x + 4 are given. Find (i) f + g, (ii) f - g, (iii) fg.

7. f(x) = x^2 - 4x + 4 and g(x) = x^2 + 4x + 4 are given. Find (i) f + g, (ii) f - g, (iii) fg.

8. The functions f and g are defined by f(x) = x^2 - 4x + 4 and g(x) = x^2 + 4x + 4. Find (i) f + g, (ii) f - g, (iii) fg.

9. f(x) = x^2 - 4x + 4 and g(x) = x^2 + 4x + 4 are given. Find (i) f + g, (ii) f - g, (iii) fg.

<http://www.csc.gov.mv/dv/downloads/14619>



